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static OutputPort led = new OutputPort(NoaUpBasic.blue_Led, false);
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Timer t = new Timer(func, null, ©, 1000);
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Thread.Sleep(Timeout.Infinite);

AN"on Y NN aT orroa nyxannn func N7 NRIPY Y190 IR wnn? g1 nn- .6

0NN VMR 7277 NN X'NWIE Main() 7 YINA NXT NIWY? U'y 1101

public static void func(object state)

{
led.Write(!led.Read());
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using System;

using Microsoft.SPOT;

using Microsoft.SPOT.Hardware;
using STM32;

using System.Threading;

using System.Text;

namespace Taskl

{
public class Program
{
static OutputPort led = new OutputPort(NoaUpBasic.blue_Led, false);
public static void Main()
{
Debug.Print("Started");
Timer t = new Timer(func, null, 0, 1000);
Thread.Sleep(Timeout.Infinite);
}
public static void func(object state)
{
led.Write(!led.Read());
}
}
}
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static InputPort pb = new InputPort(NoaUpBasic.pb2,
true,
Port.ResistorMode.PullDown);
static OutputPort led = new OutputPort(NoaUpBasic.red_Led, false);
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Thread.Sleep(1000);
DateTime dt1;
DateTime dt2;
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led.Write(true);
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dtl = DateTime.Now;
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while (!pb.Read());
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dt2 = DateTime.Now;
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Debug.Print("Your response is: " + (dt2 - dtl).Seconds + " Sec. and "

+ (dt2 - dt1).Milliseconds + " mSec.");
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led.Write(false);
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using System;

using Microsoft.SPOT;

using Microsoft.SPOT.Hardware;
using STM32;

using System.Threading;

using System.Text;

namespace Task

{

public class Program
{
static InputPort pb = new InputPort(NoaUpBasic.pb2,
true,
Port.ResistorMode.PullDown);
static OutputPort led = new OutputPort(NoaUpBasic.red_Led, false);

public static void Main()
{
DateTime dti1;
DateTime dt2;

while (true)

{
Thread.Sleep(1000);
led.Write(true);
dtl = DateTime.Now;
while (!pb.Read());
dt2 = DateTime.Now;

Debug.Print("Your reaction is:
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(dt2 - dtl).Seconds + " Sec. and " +
(dt2 - dt1l).Milliseconds + " mSec.");
led.Write(false);
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Thread.Sleep(1000);

Random rnd = new Random();
Thread.Sleep(rnd.Next(3000));
led.Write(true);
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while (pb.Read())

{
Thread.Sleep(rnd.Next(3000));
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